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SHOW ALL WORK for each problem.  If you prefer to do your work on loose-leaf, please attach it behind this page with the problems done in consecutive order.
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1.  Find the scale factor of the two similar quadrilaterals.

2. In the figure above, what is the value of b?

3.  If (EFD ~ (MNO, then (FED ~ ____.

4.  If (RED ~ (STR, then (T ~ ____.
5.  In the given figure (J
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(M,  (NKJ ~ _____.

6.  In problem 5, what is the value of x?

7.  If 3 : 8 = 12 : x, then what is the value of x?


8.  Quadrilateral ABCD is similar 

to quadrilateral EFGH.  

What is m(D?

9.  
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.  x = _____?

10.  Find the values of x and y.


11. Express the simplified ratio of AB to BD.

12.  Solve the proportion for x:   
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13.  An 8 foot man casts a 4 foot shadow.  At the same time, a monument casts a 24 foot shadow.  The monument is _____ feet high.

14.  Determine which set of numbers can be the measures of the sides of a right triangle.


a)  4, 5, 6 

c)  9, 12, 15


b)  6, 11, 14 
d)  15, 24, 39

15.  The length of a rectangle is 4 cm and the

       width is 2 cm.  What is the length of the 

       diagonal?

16.  A eight-foot ladder is leaned against a wall.  The base of the ladder is four feet from the

      wall.  The top of the ladder is _____ feet

above the ground.

17.  The diagonals of a rhombus measure 16 cm  

 
 and 12 cm.  Find the rhombus’ perimeter. 


18.  The measure of each leg of 

 an isosceles right triangle is 6.  

 Find the measure of the

       hypotenuse.


19.  In the diagram, 

      find the value of x.


20.  In the diagram, 

find the value of x.

21.  In the diagram, 

find the value of x.

22.  If the length of the shorter leg of a 

30(-60(-90( triangle is 3, then what is 

the length of the hypotenuse?

23.  If the length of the hypotenuse of a 

       45(-45(-90( triangle is 10, then what is the    

      length of a leg?

24.  Find sin B.
25.  Find m(A to the nearest degree in the above triangle.

26.  Find the value of x in the 

       given figure.  

27.  Find the value of x in the 

      given figure.  Round to 

      the nearest tenth.

28.  Find the value of x
       in the given figure.  
       Round to the nearest 
       whole number.

29.  Each of the congruent legs of an isosceles 

triangle is 18 cm long.  The measure of the vertex angle is 50(.  Find the length of the altitude to the base of the triangle to the nearest tenth of a centimeter.

30.  A surveyor finds the angle of elevation to the top of a building to be 85(.  He is 25

meters from the base of the building.  How tall is the building?

31.  In the figure below, 

 what are the names

 of 
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32.  If the radius of a circle is 5.2, then what is the diameter?

  

33. If AD = 9 and DC = 15, 

then the diameter 

of circle C is ______.

34. In the figure above, if AD = 2x + 27

      and  BD = 3x + 15, find x.
35.  An angle inscribed in a semicircle 

is a(n)________________ angle.


36.  The numbered angles in the 

 figure are inscribed angles.  

 Name all the pairs of  

 congruent angles.


37.  In circle T, name an arc with 

  measure 220(.

38.  Find the measure of AE.

39.  Suppose a chord of a circle is 16 inches long   

       and is 30 inches from the center.  Find the  

       length of the radius.


40.  Find m (ADB.


41.  Find m BAD.


42. Tangents are drawn 

to circle C.  Find x.


43.  Use circle O to find m NP.


44.  
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is tangent to circle C.  

       Find x.


   

45.  
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and

AD

 are secants in 


circle C.   Find m(DAE.

46.  Find the value of x.


47.  Secants are drawn to 

   circle C.   Find x.

48.  Chords are drawn in the 

  circle.  Find m (1.

49.  A secant and a tangent 

  are drawn to the circle.  

  Find m (3.

50.   A tangent and a secant are 

   drawn to the circle.  

   Find the value of x.


51.  Circle O is inscribed in 

  (EFG.    JF = 18, GF = 25.  

  GH = _____.

52.  Find the area of a triangle with a base of 18     

       meters and an altitude of 9 meters.

53.  The diagonals of a rhombus are 8 cm and 

       15 cm long.  Find the area of the rhombus.

54.   A trapezoid with a height of 7 ft. has bases 

       of 16 ft. and 12 ft.  Find the area of the 

       trapezoid.

55.  A parallelogram has a height that is 2 inches

       more than the length of the base.  The area 

       of the parallelogram is 168 in2.  Find the   

       base.

56.  Find the perimeter of 

  the isosceles  

  trapezoid below.

57.  Find the area of a regular pentagon if its 

       apothem is 6 ft. long and each of it’s sides is   

       11 ft. long.

58.  What is the area of a regular hexagon with 

       apothem 
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59.  Find the circumference of a circle with a 

       radius of 2.3 in.

60.  Find the area of a circle with a diameter of 

       6.5 yds.


61.  Consecutive sides of the 

  figure are perpendicular 

  and sides that appear 

       congruent are congruent.  

       Find the area.


62.  Find the area of the 

      shaded region. 

The circle is inscribed 

in the square.

63.  Given circle X, 

  find the shaded area.

64.  If the scale factor of the areas 

of two similar hexagons is 16 : 25, then the scale factor of the perimeters is _______.

65.  The areas of two similar polygons are 25 cm2 

       and 36 cm2.  If the perimeter of the smaller 

       polygon is 10 cm, then the perimeter of the 

       larger polygon is _______.

66. The base of a triangular prism is an 

      equilateral triangle with a perimeter of 15 

      inches.  If the height of the prism is 4  

      inches, find the lateral area.

67.  The base of a right rectangular prism is 16 

       cm by 10 cm.  The height of the prism is 8 

       cm.  Find the total surface area of the  

       prism.

68.  Find the volume of the prism described in  

       #67 above.

69.  The area of the base of a pyramid is 60 

       square feet and the height is 9 feet.  Find 

       the volume.

70.  A square pyramid has a slant height of 

      15 cm and a lateral area of 216 cm2.  Find the 

      total surface area.

71.  Find the volume of a cube that has an edge 

       of 12 cm.


72.  Find the lateral area of the cylinder above.

73.  Find the surface area of the cylinder above.

74.  Find the volume of the cylinder above.


75.  Find the lateral area of the cone above.

76.  Find the surface area of the cone above.
77.  Find the volume of the cone above.

78.  The volume of a sphere is 36 ( cm3.  
   Find the radius.

79.  A regular pentagon has which symmetry?

  (point only, point and line only, rotational 

   only, or point, line, and rotational)


80.  Given a regular pentagon   

      ABCDE, what is the measure

      of the angle of rotation from 

      point A to point D clockwise?

81.  What is the image of the point (3, 5)

       reflected in the y-axis?

82.  Find the sum of the measure of the interior 

       angles of a convex 16-gon.

83.  How many sides does a regular polygon have 

       if one interior angle has a measure of 120(?

84.  What is the sum of the measures of the 

       exterior angles of a convex 18-gon?

85.  A tessellation can be made with which 

       polygon?

a) 11-gon

    c)  pentagon

b) regular hexagon   d)  scalene triangle  


86.  Which figure is a translation of figure 1?

87.  Which figure is a reflection of figure 2?

88.  Which figure is a rotation of figure 2?

R





6





T





10





Q





x





S





P





14





b





6





10





9





16





8





a





M





J





20





K





12





16





N





24





X








L





F





G





H





E





70(





115(





A





B





C





D





70(





85(





10





4





12





y





x





7





A





B





C





D





6





6





6





x





6� EMBED Equation.3  ���





60(





x





5� EMBED Equation.3  ���





x





13





30(





A





B





C





5





12





13





10





x





42(





x





15





40(





15





8





x(





C





A





E





D





B





A





D





C





1





3





2





4





5





6





A





B





C





D





E





50(





40(





T





A





B





C





D





E





45(





37(





50(





.C





310(





x(





.O





N





M





Q





P





140(





A


….


.





x


….


.





14


….


.





 9


….


.





C


….


.





B


….


.





E





D





50(





G





F





C.





90(





A





x 





3





10 





3 





x 





8





6





C.





7





148(





132(





1





160(





120(





3





x





10





12





E





J





F








G





H





K





O.





�EMBED Equation.DSMT4���





15





60(





2 cm.





8 cm.





7 cm.





4 cm.





9 cm.





2 





7





7





    7





X.





72(





11 m





5 m





10 cm





  8 cm





6 cm





E





D





C





A





B





1





2





4





3








PAGE  
6

_1083007105.unknown

_1084791128

_1147764432.unknown

_1147771823.unknown

_1147773823.unknown

_1147763472

_1083007118.unknown

_1051363239.unknown

_1051443252.unknown

_1051606898

_1051442976.unknown

_1051363222.unknown

